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2.System Test
Design
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System test design specification
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System test design specification
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System test design specification
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3.System Test
Case & Result



System test specification

PTS_STP_0O
00_000
PTS_STP_0O
00_001

PTS_STP_O
00_002
PTS_STP_O
00_003

PTS_STP_1
00_000

PTS_STP_2
00_000

PTS_STP_2
01_000

TerminallD,
[TimeGap<180]GetOnTag
TerminallD,
[TimeGap <180]GetOffTag

TerminallD,
[TimeGap>180]GetOnTag

TerminallD,
[TimeGap>180]GetOffTag

TerminallD

TerminallD

TermlID[1] GetOn

Total fee/ User Balance

Total fee / User Balance

El @iz gx

ElQlze x| o

E{O| GID.txt fileg 7|3},

Tag require message

Total fee : 1050, /Balance : 8950




System test specification

PTS STP_2 TermID[1] GetOn Total fee : 1050 /Balance : 0
01_001 Balance is not enough message
PTS STP_2 TermlID[6] GetOn Total fee : 1050 /Balance : 8950
01002

PTS STP_2 TermID[6] GetOn Total fee : 1050 /Balance : 0
01_003 Balance is not enough message

PTS_STP 2 TermID[6] GetOn Total fee : 1050 / Balance : 7700
01 004 Balance = 8750

TermID[6] GetOn
PTS_STP 2 TermID[6] GetOn Total fee : 1050 / Balance : 0
01_005 Balance = 0 Balance is not enough

TermID[6] GetOn
PTS STP_2 TermID[1] GetOn, Total fee : 1050 /Balance : 10050
01_006 TermID[2] GetOff

Balance=11200, TermID[6]

[TransTime>15]GetOn




System test specification

PTS_STP_2
01_007

PTS_STP_2
01_008

PTS_STP_2
01_009

PTS_STP_2

02_000

PTS_STP_2
02_001

TermID[1] GetOn,
TermID[2] GetOff
Balance=1000, TermIDI[6]
[TransTime>15]GetOn
TermID[6] GetOn,
TermID[6] GetOff

Balance = 9950, TermID[1]
[TransTime>15]GetOn
TermID[6] GetOn,
TermID[6] GetOff

Balance = 1000, TermID[1]
[TransTime>15]GetOn
TermlID[1] GetOn

Balance = 8950

TermlID[1] GetOff
TermlID[1] GetOn

Balance = 8950

TermlID[2] GetOff

Total fee : 1050 /Balance : 1000
Balance is not enough message

Total fee : 1050 /Balance : 8900

Total fee : 1050 /Balance : 1000
Balance is not enough message

Total fee : 0 Balance : 8950

Total fee : O
Balance : 8950




System test specification

PTS_STP_2
02_002

PTS_STP_2
02_003

PTS_STP_2
02_004

PTS_STP_2
02_005

PTS_STP_2
02_006

TermlID[1] GetOn
Balance = 8950
TermlIID[3] GetOff
TermlID[1] GetOn
Balance = 8950
TermlID[4] GetOff
TermlID[1] GetOn
Balance = 8950
TermlIID[5] GetOff
TermlID[1] GetOn
Balance = 100
TermlIID[5] GetOff
TermlID[6] GetOn
Balance = 8950
TermlID[6] GetOff

Total fee : 200
Balance : 8750

Total fee : 200
Balance : 8750

Total fee : 200
Balance : 8750

Total fee : 200 / Balance : 100
Balance is not enough message

Total fee : 0
Balance : 8950




System test specification

PTS STP_2 TermID[1] GetOn, Total fee : 0

03000 TermID[2] GetOff Balance : 11200
Balance=11200, TermlIDI[6]
[TransTime<15]GetOn

PTS STP_2 TermID[1] GetOn, Total fee : 0

03 001 TermID[3] GetOff Balance : 1400
Balance=1400, TermIDI[6]
[TransTime<15]GetOn

PTS STP_2 TermID[1] GetOn, Total fee : O

03 002 TermID[1] GetOff Balance : 8950
Balance=8950, TermIDI[6]
[TransTime<15]GetOn

PTS_STP 2 TermID[6] GetOn, Total fee:0 /

03.003 TermID[6] GetOff Balance : 9950
Balance = 9950, TermID[1]
[TransTime<15]GetOn




System test specification

PTS_STP_20
4_000

PTS_STP_20
4 001

PTS_STP_20
4_002

PTS_STP_20
4_003

PTS_STP_20
4_004

TermID[1] GetOn,

TermID[2] GetOff,
TermID[6][TransTime<15]GetOn
Balance = 8300,
TermID[6][afterTransTime <30]GetOff
TermID[1] GetOn, TermID[2] GetOff,
TermID[6][TransTime<15]GetOn
Balance = 7250,
TermID[6][afterTransTime =50]GetOff
TermID[1] GetOn, TermID[2] GetOff,
TermID[6][TransTime<15]GetOn
Balance = 6100,
TermID[6][afterTransTime=70]GetOff
TermID[1] GetOn, TermID[2] GetOff,
TermID[6][TransTime<15]GetOn
Balance = 4850,
TermID[6][afterTransTime=100]GetOff
TermID[1] GetOn, TermID[2] GetOff,
TermID[6][TransTime<15]GetOn
Balance = 3500,
TermID[6][afterTransTime=130]GetOff

Total fee:0 /
Balance : 8300

Total fee:100 /
Balance : 7150

Total fee:200 /
Balance : 5900

Total fee:300 /
Balance : 4550

Total fee:400 /
Balance : 3100




System test specification

PTS STP_ 20 TermID[1] GetOn, TermID[2] GetOff, Total fee:500 /
4 005 TermID[6][TransTime<15]GetOn Balance : 1550
Balance = 2050,
TermID[6][afterTransTime=160]GetOff
PTS_ STP_ 20 TermID[6] GetOn TermID[6] GetOff, Total fee:300 /
4 006 TermID[1][TransTime<15]GetOn Balance : 8650
Balance = 8950,
TermID[2]GetOff
PTS STP_ 20 TermID[6] GetOn, TermID[6] GetOff, Total fee:600 /
4 007 TermID[1][TransTime<15]GetOn Balance : 7000
Balance = 7600,
TermID[3]GetOff
PTS STP_ 20 TermID[6] GetOn, TermID[6] GetOff, Total fee:600 /
4 008 TermID[1][TransTime<15]GetOn Balance : 5350
Balance = 5950,
TermID[4] GetOff
PTS_STP_20 TermID[6] GetOn, TermID[6] GetOff, Total fee:600 /
4 009 TermID[1][TransTime<15]GetOn Balance : 3700
Balance = 4300,
TermID[5]GetOff




System test specification

PTS STP_ 20 TermID[6] GetOn, TermID[6] GetOff, Total fee:0 /
4 010 TermID[1][TransTime<15]GetOn Balance : 2650
Balance = 2650,
TermID[1]GetOff
PTS STP_ 20 TermID[2] GetOn Total fee : 1250
5000 Balance = 8750 , TermID[1] GetOn Balance : 7500

PTS_STP_20 TermID[2] GetOn Total fee : 1250
5 001 Balance = 0 TermID[1] GetOn Balance : 0
Balance is not enough message

PTS STP_ 20 TermID[6] GetOn TermID[6] GetOff Total fee : 1650 / Balance : 730
5002 TermID[1] GetOn 0

Balance = 8950 TermID[2] GetOn
PTS_STP_20 TermID[6] GetOn TermID[6] GetOff Total fee : 1650 / Balance : 730
5003 TermID[1] GetOn 0

Balance = 8950 TermID[6] GetOn
PTS STP_ 20 TermID[6] GetOn TermID[6] GetOff Total fee : 1650 / Balance : 0
5_004 TermID[1] GetOn Balance is not enough message

Balance = 0 TermID[2] GetOn




System test specification

PTS_STP_20
5_005

PTS_STP_20
5_006
PTS_STP_20
5_007
PTS_STP_20

5_008

PTS_STP_20
5_009

TermID[6] GetOn TermID[6] GetOff
TermID[1] GetOn
Balance = 0 TermID[6] GetOn

TermID[1] GetOn TermID[1] GetOff
TermID[6] GetOn

Balance = 8950 TermID[2] GetOn
TermID[1] GetOn TermID[1] GetOff
TermID[6] GetOn

Balance = 0 TermID[2] GetOn

TermID[1] GetOn TermID[1] GetOff
TermID[6] GetOn

Balance = 8950 TermID[6] GetOn
TermID[1] GetOn TermID[1] GetOff
TermID[6] GetOn

Balance = 0 TermID[6] GetOn

Total fee : 1650 / user Balance :
0
Balance is not enough message

Total fee : 1750 / user Balance :
7200

Total fee : 1750 / user Balance :
0
Balance is not enough message

Total fee : 1750 / user Balance :
7200

Total fee : 1750 / user Balance :
0
Balance is not enough message




System test specification

PTS_STP_3 [TimeGap<180]GetOnTag

00_000 Or [TimeGap<180]GetOffTag
PTS_STP_4 [TimeGap<180]GetOnTag
00_000 Or [TimeGap<180]GetOffTag

21



System test specification(ZAH

ADJ_STP_00
0_000

ADJ_STP_00
0_001

ADJ_STP_00
0_002

ADJ_STP_00
0_003

ADJ_STP_00
0_004

ADJ_STP_00
0_005

TermID[6] GetOn,
TermID[6] GetOff

TermID[1] GetOn,
TermID[2] GetOff

TermID[1] GetOn,
TermID[3] GetOff

TermID[6] GetOn,

TermID[6] GetOff

TermID[1] GetOn[TransTime <15]
TermID[2] GetOff

TermID[6] GetOn,

TermID[6] GetOff

TermID[1] GetOn[TransTime <15]
TermID[3] GetOff

TermID[1] GetOn,

TermID[2] GetOff

TermID[6] GetOn [TransTime <15]
TermID[6][AfterTransTime <30]GetOff

Overall Fee : 1050
Subway Fee : 0
Bus Fee : 1050
Overall Fee : 1050
Subway Fee : 1050
Bus Fee : 0

Overall Fee : 1250
Subway Fee : 1250
Bus Fee : 0

Overall Fee : 1350
Subway Fee : 759
Bus Fee : 591

Overall Fee : 1650
Subway Fee : 1008
Bus Fee : 642

Overall Fee : 1050
Subway Fee : 525
Bus Fee : 525




System test specification(ZAH

ADJ_STP_00
0_006

ADJ_STP_00

0_007

ADJ_STP_00
0_008

ADJ_STP_00
0_009

ADJ_STP_00
0_010

TermID[1] GetOn,

TermID[2] GetOff

TermID[6] GetOn [TransTime <15]
TermID[6][AfterTransTime=50]GetOff
TermID[2] GetOn

TermID[1] GetOn

TermID[2] GetOn
TermID[1] GetOn
TermID[1] GetOff
TermID[6] GetOn
TermID[6] GetOff
TermID[1] GetOn/ TransTime <15
TermID[2] GetOn
TermID[6] GetOn
TermID[6] GetOff
TermID[1] GetOn/ TransTime <15
TermID[2] GetOn
TermID[2] GetOff

Overall Fee : 1150
Subway Fee : 549
Bus Fee : 601

Overall Fee : 1250(2300)
Subway Fee : 1250(2300)
Bus Fee : 0

Overall Fee : 2300
Subway Fee : 2300

Bus Fee : 0

Overall Fee : 1650(2700)
Subway Fee : 1008(2058)
Bus Fee : 642

Overall Fee : 2700
Subway Fee : 2058
Bus Fee : 642




System test specification(ZAH

ADJ_STP_00
0_011

ADJ_STP_00
0_012

ADJ_STP_00
0_013

ADJ_STP_00
0_014

TermID[1] GetOn
TermID[2] GetOff
TermID[6] GetOn/ TransTime <15
TermID[6] GetOn
TermID[1] GetOn
TermID[2] GetOff
TermID[6] GetOn/ TransTime <15
TermID[6] GetOn
TermID[6] GetOff
TermID[1] GetOn
TermID[2] GetOff
TermID[6] GetOn/ TransTime <15
TermID[3] GetOn
TermID[1] GetOn
TermID[2] GetOff
TermID[6] GetOn/ TransTime <15
TermID[3] GetOn
TermID[3] GetOff

Overall Fee : 1750(2800)
Subway Fee : 656
Bus Fee : 1094(2144)

Overall Fee : 2800
Subway Fee : 656
Bus Fee : 2144

Overall Fee : 1750(2800)
Subway Fee : 656(1076)
Bus Fee : 1094

Overall Fee : 2800
Subway Fee : 1076
Bus Fee : 1094
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ADJ STP_10 Buscompany.txt It 0 & A7|

0_000 50| 7| &
ADJ_STP_20 Subwaycompany.txt It 0f
0_000 7|150] 7|=
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4. System Test
Design(Teamb)



System test design specification
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System test design specification

PTS_STP_202

PTS_STP_203

PTS_STP_204

PTS_STP_300

PTS_STP_400
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System test design specification
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Not test design specification

PTS_NSTP_00 EHO|d ==z 2 x7|3}
0

PTS_NSTP_10 E{O|Y DBY|Z

0

ADJ_ NSTP_ 00 H{A &|A} DB =

0

ADJ_NSTP_10 X|&}X 3|A} DBZEH
0

HOl2 Z2=-0| A& E|7] ® HO 20 M&
2 255 =7|=t othf.

—

E0|'2 DBO|| Datag 7| tCt.

HASIAL]| BBt HAE
0| 7|2 =L}

NEESRE =S
=0 7|2 Elct

31



5. System Test
Case & Result
(Teamb)



System test specification

PTS_STP_00
0_000

PTS_STP_00
0_001

PTS_STP_10
0_000

PTS_STP_20
0_000

PTS_STP_20
0_001

PTS_STP_20
0_002

PTS_STP_20
0_003

<HA A AE A

<EHOI2 A[AF 2>

5712l X|5HE & O|'Ent
el A EHOlE 2

EHOE StHEA

Balance= 2000
TermID[BUS] , <X} Ej

Balance= 2000
TermID[MGN] ,&X} Ef

Balance= 900
TermID[BUS] X} Ej

Balance= 900
TermID[MGN] &X} Ej1

MH| Al2E S

CardID require message

Cost : 1050
Balance : 950

Cost : 1050
Balance : 950

Balance : 900
SKt =71 BHA|

Balance : 900
SKt =71 BHA|




System test specification

PTS_STP_20
0_004

PTS_STP_20
0_005

PTS_STP_20
1_000

PTS_STP_20
1001

PTS_STP_20
1002

PTS_STP_20
1.003

Balace =1100
TermID[MGN] , =X} Ef1

TermID[BUS] =X} Ef 1,
Balance = 1950
TermID[BUS] S}A} Ef1
TermID[BUS] , X} Ef
Balance= 950
TermID[BUS] ,S}X} Ef
TermID[MGN] ,£X} Ej1
Balance= 950
TermID[MSR] ,S}A} Ef 1
TermID[MGN] ,&X} Ej1
Balance= 950
TermID[MHJ] ,5} KX} Ef
TermID[MGN] ,£Xx} Ef1
Balance= 950
TermID[MGN] ,5}X} Ef 1

Balance : 1100
SKt =7 BEA|(7Hs SHOF

Cost : 1050
Balance : 900

Cost: 0
Balance : 950

Cost: 0

Balance : 950
SAt 7hs HA
Cost : 0(200)
Balance : 950(750)

Cost: 0
Balance : 950

St
=]




System test specification

PTS_STP_20 TermID[MGN] ,&X} Ej1 Cost : 0(200)

1 004 Balance = 950 Balance 950(750)
TermID[MDM] ,s}X} Ef 1

PTS_STP_ 20 TermID[MGN] ,&X} Ef1 Cost : 0(200)

1 005 Balance = 950 Balance 950(750)
TermID[MKU] ,S}X} Ef

PTS_STP_20 TermID[MGN] ,&X} Ej1 Cost: 0

2000 TermID[MSR] S}X} Ef Balance : 950
Balance= 950
TermID[BUS][TransTime<15] X} Ef1

PTS_STP_20 TermID[MGN] &%} Ef1 Balance : 350

2001 TermID[MHJ] S}X}F Ef 1 =K HE BA|
Balance=350
TermID[BUS][TransTime<15] X} Ef1

PTS_STP_ 20 TermID[MGN] &X} Ef1 Cost: 0

2 002 TermID[MGN] S}X} Ef 1 Balance : 950
Balance=950 =KX EA|
TermID[BUS][TransTime<15] X} Ef1




System test specification

PTS_STP_20
2_003

PTS_STP_20
3_000

PTS_STP_20
3_001

PTS_STP_20
3_002

TermID[BUS] X} Ef1

TermID[BUS] S} Ef 1

Balance = 950
TermID[MGN][TransTime<15] X} Ef1
TermID[MGN] &X} Ej1

TermID[MSR] S}A+ Ef
TermID[BUS][TransTime<15] =X} Ej1
Balance = 950
TermID[BUS][afterTransTime <30]S}X}FEH 1
TermID[MGN] =X} E{ 1,

TermID[MGN] S}X} Ef1
TermID[BUS][TransTime<15] =X} Ef1
Balance = 950,
TermID[BUS][afterTransTime=30] S} X} Ef 1
TermID[MGN] X} Ef

TermID[MGN] S}XA} Ef
TermID[BUS][TransTime<15] =X} Ef1
Balance = 950
TermID[BUS][afterTransTime=120] S}X} Ef 1

Cost: O
Balance : 950
SKH7tSHA|

Cost: O
Balance : 950

Cost: 1 (100)
Balance : 949(850)

Cost : 4 (400)
Balance : 946(550)




System test specification

PTS_STP_20
3_003

PTS_STP_20
3_004

PTS_STP_20
3_005

PTS_STP_20
3_006

TermID[BUS] X} Ef1

TermID[BUS] S} Ef 1
TermID[MGN][TransTime<30] X} Ej1
Balance = 1950,

TermID[MSR] S}X+ Ef 1

TermID[BUS] X} Ej1

TermID[BUS] S}A} Ef1
TermID[MGN][TransTime<30] X} Ef1
Balance = 1950,

TermID[MHJ] S}X} Ef 1

TermID[BUS] &X} Ej

TermID[BUS] S}A} Ef 1
TermID[MGN][TransTime<30] =X} Ef1
Balance = 1950,

TermID[MDM] S}AF Ef

TermID[BUS] X} Ej

TermID[BUS] S}A} Ef1
TermID[MGN][TransTime<30] X} E{
Balance = 1950,

TermID[MKU] S}XA} Ef

Cost : 300
Balance : 1650

Cost : 300 (600)
Balance : 1650 (1350)

Cost : 300 (600)
Balance : 1650 (1350)

Cost : 300 (600)
Balance : 1650 (1350)




System test specification

PTS_STP_20 TermID[BUS] =X} Ef1 Cost : 300(0)
3 007 TermID[BUS] S}X} Ef 1 Balance : 1650 (1950)
TermID[MGN][TransTime<30] =X} E{1
Balance = 1950,
TermID[MGN] S}A} Ef 1
PTS_STP_20 TermID[MSR] GetOn Total fee : 1250
4 000 Balance = 1950 Balance : 700
(07| A 1250@ = HAte)
TermID[MGN] GetOn
PTS_STP_20 TermID[MSR] GetOn X(EXAHE)
4 001 Balance = 0 Balance : 0
TermID[MGN] GetOn
PTS_STP_20 TermID[BUS] GetOn Total fee : 1650 / user B
4 002 TermID[BUS] GetOff alance : 300
TermID[MGN] GetOn
Balance = 1950
(7| HX 16503 S “diteh)
TermID[MSR] GetOn




System test specification

PTS_STP_20
4 003

PTS_STP_20
4_004

PTS_STP_20
4_005

PTS_STP_30
0_000

PTS_STP_40
0_000

TermID[BUS] GetOn
TermID[BUS] GetOff
TermID[MGN] GetOn
Balance = 1950
TermID[BUS] GetOn
TermID[MGN] GetOn
TermID[MGN] GetOff
TermID[BUS] GetOn
Balance = 1950
TermID[MSR] GetOn
TermID[MGN] GetOn
TermID[MGN] GetOff
TermID[BUS] GetOn
Balance = 1950
TermID[BUS] GetOn
£ o[l ZXt Ef 2

HOE A[2E S=

Total fee : 1650 / user B
alance : 300

Total fee : 1750 / user B
alance : 200

Total fee : 1750 / user B
alance : 200

A 10+7F CardIDtxt ot
| I:I}O:I E| X| 9I-O|

—

MAF A|AH LE 3O
EOle AlARO| S
S x| ol




System test specification(ZAH

ADJ_STP_00
0_000

ADJ_STP_00
0_001

ADJ_STP_00

0_002

ADJ_STP_00
0_003

TermID[BUS] X} Ef
TermID[BUS] S}Xt Ef

TermID[MGN] &£X} Ef
TermID[MSR] S}X} Ef 1

TermID[MGN] &X} Ef1

TermID[MHJ] S}Xt Ef 1

TermID[BUS] £X} Ef
TermID[BUS] S}A} Ef 1

TermID[MGN]Z=XHTranseTime<15]

TermID[MSR] S}X} Ef 1

Total income : 1050
Metro company income
;0

Bus company income: 1
050

Total income: 1050
Metro company income
: 1050

Bus company income: 0
Total income: 1050(125
0)

Metro company income
: 1050 (1250)

Bus company income: 0
(0)

Total income: 1350(135
0)

Metro company income
: 753(759)

Bus company income: 5
96(591)




System test specification(ZAH

ADJ_STP_00
0_004

ADJ_STP_00
0_005

ADJ_STP_00
0_006

TermID[BUS] X} Ef1
TermID[BUS] S} Ef 1
TermID[MGN]=&X}HTranseTime <15]
TermID[MHJ] S} Ef

TermID[MGN] X} Ef

TermID[MSR] S}A+ Ef

TermID[BUS] =X} Ej1 / TranseTime =<15
TermID[BUS] S}A} Ef 1

AfterTranseTime < 30

TermID[MGN] £X} Ej1

TermID[MSR] S}At+ Ef

TermID[BUS] X} Ef 1 / TranseTime =<15
TermID[BUS] S}A} Ef 1

AfterTranseTime = 50

Total income: 1350(165
0)

Metro company income
: 753(1008)

Bus company income: 5
96(642)

Total income: 1050(105
0)

Metro company income
: 529(525)

Bus company income: 5
20(525)

Total income: 1051(115
0)

Metro company income
: 529(549)

Bus company income: 5
21(601)




System test specification(ZAH

ADJ_STP_00
0_009

ADJ_STP_00
0_010

TermID[MGN] =X} Ej Total income: 2800
TermID[MSR] S}X} Ef 1 Metro company income: 656
TermID[BUS] &X} Ef1 / TranseTime = Bus company income: 2144

<15

TermID[BUS] £ X} EJZ1(O|X0f 7002l 0|

HA Fik | E)

TermID[BUS] S}A} Ef1

TermID[MGN] £X} Ef Total income: 2300(2800)
TermID[MSR] S}A} Ef 1 Metro company income : 0(107
TermID[BUS] £X} Ej1 / TranseTime = ©6)

<15 Bus company income : 2300(10
TermID[MHJ] X} Ef1 94)

TermID[MHJ] St} Ef 1
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S FAREH(E{D| L)

« BI& S SHAF Al =ULQZ0| M2 2otE| K| %2,

Connet with API
Input Card ID : 1111
Cost : 1050
Balance : 950
Input Card ID : 1111
0 C

onneted with the PTSC(A>
onneted with the PTS5{1>
eceived API Datad<@d
eceived API Datadi>
tart to Sort

Input Card ID

~/System_test/PTS
5 ./pts MGN
Connet with API
Input Card ID : 1111
Cost : 1050
Balance

Connet with
Input Card ID : 1111

Cost : O EBHE -» H2Z SE S 30E =of otAt
Balance : 950 .
Input Card ID : 1111 StE Bat 9=0| 30 § 1008 0| £7¢

1 http:/ /s H.N i ck E+Q - 4o £ 57 AE 0] Cost : O

I - ol Balance : 950 5l
Input Card ID :
Sended the API Data. Turn off this PTS.
Received the C01plete Signal.
oot L"ir"

~/System_test/PTS
$ ./pts BUS
Connet with API
Input Card ID : 1111
0 Cost : O
Balance : 950
Input Card ID : 1111
0 Cost @ 1
Balance : 949
Input Card ID :
Sended the API Data. Turn off this PTS.




the PITS<@A>»

Conneted ] the PTSC1>» 5 .Spt=s BUS
Connet with APT

~ S System _test

Inpwut Card ID = 131313
L] Co=t :: 1050
Balance : 13950
Inpwut Card ID = 131313
Lo} Cost =z O
Balance : 1950

Input Card ID =

~ By stem _test/PTS
£ ./.pts BUSE

= - stermn_test/PTS
Input Card ID :

W ELE ER=t g = o] AF EE
Ist= == A 10503 ol T S System test PTS

Wo| =SS B0l Thssior [T TrE TeE——
SEE|DF & FP= = == gIRICH Tnput Card ID :
= = = ToE bt Balance : 1100

Input Card ID =

~SSwstem_test PTS
% ./ /pts MGN

Connet with APT

Input Card ID = 1313131

pos Balance : 1100

Input Card ID =

~SSvwstem_test
% . Spt= MEU

Connet with API
Input Card ID =

aooooooooodd M 0 1100 DEFSsULT

~SSwstem_test  PTS
% ./Spt=s MEU

Connet with API

Input Card ID : 1111

~SSwstem_test  PTS
% . pt=s MEKU

Connet with API

Input Card ID =

45



- 320FCE Z4H0] MCHE O|F 0] X|X| =

s O3-

jstem_testit AP api.exe

: Input Card ID :
Send Conplete Signals Sended the API Data. Turn off this PTS.
Received the Complete 51gnal.

Input Card ID :

GDI‘II‘IE.:tEd with the PTS<@> 3 EJO|HQL PTS A|AES 4|0 =62 up ctem test/PTS
Received API Data<{@> o e oL o =i b -
Start to Sort 353 BOIE W AB0| M EEE R A 2 E )
start to Calculate Qlom FA A|ABO| MBES S0 PTS A|ABQ| SEGER| U § cd ./System_test/PTS/
total income : @ =

: £ 72 =0 & 4 Q9rt 123 ofR M FIE BI1E oHR| 2 ~/System_test/PTS
bus company income : @ = A8 =0 & 4 9ot 12|10 ofRH FtE ef £ ofx| 2o ™ ystem_test,
jretro conmpany income : 8 7| 20 ofFE =20 Biss =2 T = U Connet with API

QI_ A

search.naver.com/searck O
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Input
L ) DUt
rended

nded

Pl

Input
Sended

PHAAHE AN

-
serd C =
Conneted
Received
Received
Reces ved

Conneted
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SEAEHFH MAIAH)

0

B R R R
Conneted wvath the PTS%O
Conneted wvhth the PTS(1

rII

F= 20| MHZE O|FH{X[X| R0t
—1
d

Conneted with the PTS(2) = H Zv0| G X| 2.

Received API Data(2)

Received API Data(l)

Received API Data(0) " i o

Start to Sort _ - HA0|M X|SIEZ 2k St L}
Start to Calculate OF ©

total income : 2100 s *|_|'O| O|—,—O'|X|X| EoN =]

bus company income : 2100
metro company income : 0
Send Complete Signals
Conneted wvith the PTS(3)
Received API DatagB)
Received API Data(2)
Received API Data(l)
Received API Data(0)
Start to Sort

Start to Calculate

total income : 2702

bus company income : 2702
metro company income : 0
;cnd Complete Signals

R
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